Westside Christian College Secondary



Year 12 2026

ALL ORDERS TO BE COMPLETED ONLINE at www.campion.com.au using "TRVD" as your code

by Wednesday 10th December 2025

PREPACKAGED DELIVERY SERVICE

Payment for orders to be made by Mastercard or Visa.

DELIVERY ORDERS placed by the due date will be delivered by Friday, 23 January 2026. Due to supply chain challenges, your delivery may arrive outside the original estimated delivery timeframe.

Orders can still be placed after the due date by visiting our website or Retail Service Centre. Full stock availability cannot always be guaranteed for orders placed after the due date.

During late January to early February our Retail Service Centres encounter high volumes and you may experience some queues and delays during this time. For the latest and up-to-date information on our store trading hours and full terms & conditions, please visit our website at www.campion.com.au



Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	Year 12					
	ACCOUNTING No items required					
P50452	ANCIENT/MODERN HISTORY Binder Book A4 96 Page 8mm Premium with Margin #121 Spirax	1		1	1.40	1.40
P50328	BIOLOGY Exercise Book A4 128 Page 8mm with Margin #110 Spirax	2		2	1.80	3.60
P55446	BUSINESS Display Book A4 20 Pocket Green Refillable	3		1	1.88	1.88
P50328	CHEMISTRY Exercise Book A4 128 Page 8mm with Margin #110 Spirax	4		2	1.80	3.60
P50328	CHINESE Exercise Book A4 128 Page 8mm with Margin #110 Spirax	5		2	1.80	3.60
P50779	CHRISTIAN STUDIES Exercise Book A4 48 Page 8mm with Margin #100 Spirax	6		1	1.00	1.00
P50451	DANCE Exercise Book A4 96 Page 8mm with Margin #108 Spirax	7		1	1.44	1.44
P51286 P58537 P56249 P56168 P58510 P56222	DESIGN Art Folio A3 Colby Black Vinyl Pencils-Coloured 12's Faber Classic Colour Lead Refills 0.5mm (2B) Tube 12/20 Pen Fineliner Uni Pin 0.8 Black Eraser Plastic Pencil Large With Sleeve Pencil Mechanical 0.5	8 9 10 11 12 13		1 1 1 1 2 2	7.20 5.20 1.32 3.12 0.32 2.12	7.20 5.20 1.32 3.12 0.64 4.24
P58197	DRAMA Visual Art Diary A4 60 Sheet/120 Page 110gsm Spirax	14		1	5.32	5.32
P50451	ENGLISH Exercise Book A4 96 Page 8mm with Margin #108 Spirax	15		2	1.44	2.88
P52439 P50451 P51006	ENGLISH AND LITERATURE EXTENSION Notebook A5 225x175mm Hard Cover Asstd 200pg Spirax Exercise Book A4 96 Page 8mm with Margin #108 Spirax Document Envelope A4 PP With Press Stud Blue	16 17 18		1 3 2	6.92 1.44 1.00	6.92 4.32 2.00
P50328 P50779	ESSENTIAL ENGLISH Exercise Book A4 128 Page 8mm with Margin #110 Spirax Exercise Book A4 48 Page 8mm with Margin #100 Spirax	19 20		2 1	1.80 1.00	3.60 1.00
P54148 P51673	FILM, TELEVISION AND NEW MEDIA Exercise Book 225x175mm 64 Page 8mm #P191 Spirax Memory Card MicroSDHC 32GB Class10 with SD Adaptor-NO RETURN	21 22		1	0.92 23.16	0.92 23.16
P58197	NOTE: Retain from previous year Visual Art Diary A4 60 Sheet/120 Page 110gsm Spirax NOTE: Retain from previous year	23		1	5.32	5.32

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	FOOD AND NUTRITION					
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	24		1	1.44	1.44
P51279	Display Book A4 20 Pocket Hot Pink Refillable	25		1	1.88	1.88
	GEOGRAPHY					
P50452	Binder Book A4 96 Page 8mm Premium with Margin #121 Spirax	26		1	1.40	1.40
	HEALTH					
P50452	Binder Book A4 96 Page 8mm Premium with Margin #121 Spirax	27		1	1.40	1.40
	HOSPITALITY PRACTICES					
P50779	Exercise Book A4 48 Page 8mm with Margin #100 Spirax	28		1	1.00	1.00
P55442	Display Book A4 20 Pocket Black Refillable	29		1	1.84	1.84
	INDUSTRIAL TECHNOLOGY SKILLS					
P56249	Lead Refills 0.5mm (2B) Tube 12/20	30		1	1.32	1.32
P56428	Safety Glasses Clear Wrap Around	31		1	5.16	5.16
P58510	Eraser Plastic Pencil Large With Sleeve	32		2	0.32	0.64
P56222	Pencil Mechanical 0.5	33		2	2.12	4.24
	LITERATURE					
P52439	Notebook A5 225x175mm Hard Cover Asstd 200pg Spirax	34		1	6.92	6.92
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	35		3	1.44	4.32
P50883	Document Envelope A4 PP With Press Stud Green	36		1	1.00	1.00
	MATHEMATICS - ESSENTIAL					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	37		2	1.80	3.60
P54136	Calculator Casio Scientific FX-8200AU	38		1	51.95	51.95
	MATHEMATICS - GENERAL					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	39		4	1.80	7.20
P54136	Calculator Casio Scientific FX-8200AU	40		1	51.95	51.95
	MATHEMATICAL METHODS					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	41		4	1.80	7.20
P54574	Calculator Casio Graphic FX1AU	42		1	283.95	283.95
	MATHEMATICS - SPECIALIST					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	43		4	1.80	7.20
P54574	Calculator Casio Graphic FX1AU	44		1	283.95	283.95
	MUSIC					
P52315	Visual Art Diary A5 PP 120 Pages 110gsm - Marine Blue	45		1	4.92	4.92
	MUSIC EXTENSION					
P52315	Visual Art Diary A5 PP 120 Pages 110gsm - Marine Blue	46		1	4.92	4.92
	NUMERACY					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	47		2	1.80	3.60
P55443	Display Book A4 20 Pocket Navy Blue Refillable	48		1	1.88	1.88
	PHYSICAL EDUCATION					
P50451	Exercise Book A4 96 Page 8mm with Margin #108 Spirax	49		1	1.44	1.44
	PHYSICS					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	50		4	1.80	7.20

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	PSYCHOLOGY					
P50328	Exercise Book A4 128 Page 8mm with Margin #110 Spirax	51		2	1.80	3.60
	SPORTS AND RECREATION					
P52070	Binder Book A4 48 Page 8mm Premium with Margin #122 Spirax	52		1	1.04	1.04
	VISUAL ARTS					
P56144	Pen 5 Piece Drawing Set Unipin Fineliner	53		1	15.24	15.24
P58197	Visual Art Diary A4 60 Sheet/120 Page 110gsm Spirax	54	_ <u></u>	1	5.32	5.32
P56276	Pencils-Graphite Set 6 Sketch with sharp/eraser 2H-6B	55	<u> </u>	1	10.48	10.48
	Number of Boxes ticked:					
	Delivery, packaging & handl	ing	\$12.00			

ESTIMATED AMOUNT DUE (PRICES CORRECT AT 08/10/25)